

دوازدهم

مبانی الکترونیک

$$f(z) = \frac{\sqrt{4z^2 + (m+r)z + \frac{m}{r}}}{|rz^2 + (m-r)z + ar|}$$

$* 0 < b < \pi$

$z \neq a$

$z = a$

$* a \neq 0$

$\frac{r \tan b}{\sqrt{1-a}}$

$$\Delta = 0 \Rightarrow (m+r)^2 - 4rm = 0 \Rightarrow (m-r)^2 = 0 \Rightarrow m = r$$

$$z = a = \frac{-(m+r)}{1r} \Rightarrow a = -\frac{1}{r}$$

$$\lim_{z \rightarrow -\frac{1}{r}} \sqrt{4(z + \frac{1}{r})^2} = \lim_{z \rightarrow -\frac{1}{r}} \sqrt{4|z + \frac{1}{r}|}$$

$$z \rightarrow -\frac{1}{r} \quad |rz^2 + \frac{1}{r}| \quad z \rightarrow -\frac{1}{r} \quad r|z^2 + \frac{1}{r}|$$

$$\frac{\sqrt{4}}{\frac{r}{r}} = \frac{r\sqrt{4}}{r} \quad r|z + \frac{1}{r}| \quad |z^2 - \frac{a}{r} + \frac{1}{r}|$$

$$f(-\frac{1}{r}) = \frac{r \tan b}{\sqrt{\frac{1}{r}}} = \frac{r \sqrt{4}}{r} \Rightarrow r \tan b = \frac{\sqrt{4}}{r} \Rightarrow b = \frac{\pi}{4}$$

$$2z^2 - az + b = 0 \rightarrow f(z) = \frac{z^2 + az + b}{z-1}$$

$$2 - a + b = 0$$

$$* a - b = 0$$

$$1 + a + b = 0$$

$$* a + b = -1$$

$$a - b = 0$$

$$a + b = -1$$

$$1a \in \mathbb{R} \Rightarrow a = r \quad b = -r$$

$$\left[\frac{b - ra}{r} \right] = ?$$

$$\left[\frac{-r - r}{r} \right] = -2$$

$$x=1 \rightarrow \tan \frac{\pi}{2} = -1$$

$$f(x) = \begin{cases} \tan \frac{(x+1)\pi}{2} & x < 1 \\ \frac{-(x+1)(x-1)}{|x^2+x-1|} & 1 < x < \infty \\ b(x - [-x]) & x \geq \infty \end{cases}$$

$\overline{x} [1, \infty)$ $ab = ?$

$$f(1) = \lim_{x \rightarrow 1^+} f(x) \Rightarrow \frac{1}{a} = \frac{(x+1)}{a} \Rightarrow a = 1 \quad \left\{ \begin{array}{l} ab = -\infty \end{array} \right.$$

$$f(\infty) = \lim_{x \rightarrow \infty} f(x) \Rightarrow 1 \cdot b = -\frac{1}{a} \Rightarrow b = -\frac{1}{a}$$

$$f(x) = a[x+1] + b[x + [a+1]] \sim \frac{a[a]}{f(a)}$$

$$a[a] + a + b[a] + b[a] + b$$

$$[a](a+b) + b[a] + a + b$$

ضرب عامل مشترک در صورت
باعتبار می‌گیریم

$$\Rightarrow a+b=0 \Rightarrow a=-b \Rightarrow f(a) = -a[a] \Rightarrow \frac{a[a]}{-a[a]} = -1$$

$$f(x) = (b[x^2 - ax]) - xa \sim \frac{a}{f(a)} = ?$$

$$b=0 \quad f(x) = -xa \Rightarrow \frac{a}{f(a)} = \frac{a}{-xa} = -\frac{1}{x}$$

$$f(z) = \begin{cases} \frac{z^r + m + n}{a - z} & z \neq a \\ r & z = a \end{cases} \quad f(za) = 0 \quad n - m = ?$$

$$\lim_{z \rightarrow a} \frac{z^r + m + n}{a - z} = r \xrightarrow{\text{L'Hop}} \frac{r a + m}{-1} = r$$

$$\xrightarrow{\text{L'Hop}} z = a \Rightarrow * a^r + m + n = 0 \quad r a + m = -r$$

$$f(za) = 0 \Rightarrow \frac{r a^r + m + n}{a} = 0 \Rightarrow r a^r + m + n = 0$$

$$r a^r + m + n = a^r + m + n \Rightarrow r a^r = -m$$

$$* 1 + (-r\varepsilon) + n = 0 \quad r a = -r m$$

$$\frac{-1}{-1} \Rightarrow n = 1 \quad -\frac{r}{r} a = m$$

$$\Rightarrow n - m = 1 - r = r$$

$$f(z) = \begin{cases} (1-a)[z] + (ra-1)[-z] & z \notin \mathbb{Z} \\ b \sin\left(\frac{\pi}{a}\right) & z \in \mathbb{Z} \end{cases} \quad \frac{a}{b} = ?$$

$$1 - a = ra - 1 \Rightarrow ra + a - r = 0$$

$$r([z] + [-z]) \quad \lambda a = 1 \quad a = \frac{1}{r}$$

$$\frac{1}{r}([z] + [-z]) \Rightarrow \frac{-1}{r} \Rightarrow \frac{a}{b} = \frac{1}{r} = r$$

$$b \sin(-\pi) = 0 \quad b \sin\left(\frac{-\pi}{r}\right) = \frac{1}{r} \Rightarrow b = \frac{1}{r}$$

$$\text{hop: } \frac{|ra+m|}{|ra|m+1} = \frac{m}{m+r}$$

$$f(a) = \begin{cases} \frac{|a^r+m|}{|a^r-1|+|a-1|} : a \neq 1 \\ \frac{m}{m+r} : a = 1 \end{cases}$$

$$\frac{ra+m}{ra+1} = \frac{m}{m+r} \Rightarrow \frac{r+m}{r+1} = \frac{m}{r+m} \Rightarrow r^2+m^2 = r^2+m+2rm \Rightarrow m^2-m-2rm=0$$

$$\lim_{a \rightarrow -1} f(a) = 0 \quad m=1 \quad m=1 \quad m=1$$

$$f(a) = \frac{\sqrt{r}|a^r+a|}{|a^r+(m-r)a+a^r|}$$

$$a^r+ma-ra+a^r=0$$

$$a^r+m-ra=0$$

$$a^r+a+m-r=0$$

$$f(a) = \begin{cases} \frac{a^r+|a|}{a^r+a|a|} & a \neq 0 \\ \frac{ra-1}{ra+r} & a = 0 \end{cases}$$

$$\lim_{a \rightarrow 0^+} f(a) = f(0) = \frac{a^r+a}{a^r+a|a|} = \frac{ra-1}{ra+r}$$

$$\lim_{a \rightarrow 0^-} f(a) = f(0) = \frac{a^r-a}{a^r-a|a|} = \frac{ra-1}{ra+r}$$

$$ra^r+a-ra-r = ra^r-a-ra^r+a$$

$$ra^r+ra-ra-r = 0$$

$$r = \frac{a^r}{a^r}$$